
Bulletin Date:

TTI Model Number: 018 089 049 Starting Serial Number:

 M18 COMPACT 1/2" IMPACT WRENCH VERSION A - G2014

M18 BIW12            
SERVICE PARTS DIAGRAM Nov-17

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 089 049 Starting Serial Number:

 M18 COMPACT 1/2" IMPACT WRENCH VERSION A - G2014

ITEM PART NUMBER PART DISCRIPTION QTY (PCS)

1 202730001 HOUSING ASSEMBLY                                          1

2 - LEFT HOUSING HALVE                                          1

3 - RIGHT HANDLE HALVE                                         1

4 662047001 M4 X 20MM SCREW                  4

8 642067001 PLASTIC WASHER                                                 1

12 680582005 NEEDLE BEARING 1

13 670219001 5MM STEEL BALL                                                    1

19 680015001 4.7MM STEEL BALL                                             2

28 741256004 FIELD                                                    1

33 202742002 BRUSH CARD ASSEMBLY                                     1

34 560076001 RUBBER SLUG                                                     8

35 525462001 FORWARD / REVERSE SHUTTLE                             1

37 691093001 TERMINAL BLOCK SPRING                                     1

38 - BELT CLIP                                                            1

39 661082002 6-32 X 5/16" SCREW     1

45 660851001 M3 X16M SCREW                9

46 941048042 SERVICE NAMEPLATE                                          1

48 691983001 FRICTION RING 1

49 570698001 O-RING 1

50 671562063 ANVIL 1

51 202725001 FRONT GEARCASE WITH BUSHING  1

53 200704002 ANVIL ASSY 1

55 200713002 GEARBOX ASSEMBLY 1

56 201303001 ARMATURE ASSEMBLY 1

57 270001600 ELECTRONICS ASSEMBLY 1

58 662308001 M3 X 5MM SCREW 2

60 202728001 BELT CLIP ASSEMBLY 1

71 - LEADWIRE ASSEMBLY - BLACK - RIGHT SIDE 1

72 - LEADWIRE ASSEMBLY - RED - LEFT SIDE 1

73 - BRUSH SPRING - RIGHT 2

74 - BRUSH SPRING - LEFT 2

76 202741002 LEADWIRE/SCREW/WASHER KIT 1

77 940221345 WARNING LABEL (NOT SHOWN) 1

1200 - TYPE J GREASE

M18 BIW12            
SERVICE PARTS LIST Nov-17

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 089 049 Starting Serial Number:

 M18 COMPACT 1/2" IMPACT WRENCH VERSION A - G2014

M18 BIW12            
SERVICE INSTRUCTION Nov-17

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 089 049 Starting Serial Number:

 M18 COMPACT 1/2" IMPACT WRENCH VERSION A - G2014

M18 BIW12            
SERVICE INSTRUCTION Nov-17

www.milwaukeetool.asia


